o
=
N

Fraction of events
=
H

0.08 —

0.06

0.04

0.02

Ratio to CDF

0.5

1800 GeV ppbar
_I'I'I'I'|'I

a

m CDF
---0-- Pythia 6.428 345
— - Pythia 6.428 346
—A— Pythia 6.428 370
Pythia 6.428 default
—a— Pythia 8.170 default

LA A e
i b
— Q '\ Pt A 1
] \ 1
A A ® 4
N A | !
A G\ i
— I—I . i \ 0 Ig\ l‘ m
/N . P , A /al gé A D“ N
- \ Y k . oy B!
\‘ \ \\ 1 ©X :‘ , Z‘ \ /\\ |Z|
- sn A\ OE Ql A A S
\‘ II .: 3 & I' -. ’ . =y /N G ﬁ \‘: P
- R s aw QA Q -
- W g i W\ -‘.-\
— 1 - { A /
\/ KO

(nj >3, pT1>1OO)

mcplots.cern.ch [arXiv:1306.3436]

O

[all) >

Rivet 3.1.0, = 100k events

N

0.5



	Contents
	Page 1


